22.1 23.7 26.0 25.9 29.0 28.5 25.4 23.0 20.9 18.7 19.0 19.9 23.5 29.7 17.9
6.4 6.6 6.5 6.6 6.7 6.6 6.6 6.8 6.6 6.7 6.7 6.7 6.6 7.4 6.2
4.8 4.3 1.4 1.4 1.5 1.6 1.4 1.9 4.3 6.8 5.0 4.4 3.1 8.1 0.9
5 3 4 6 3 4 3 3 4 4 4 4 4 18 1
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
9.4 10.1 9.4 8.4 9.1 8.9 8.4 8.1 8.7 9.9 10.4 9.3 9.2 14.0 6.0
10.6 10.6 8.8 9.6 6.0 9.0 6.2 9.8 9.2 12.3 12.1 9.0 9.4 13.4 3.4
2.14 1.62 2.06 1.89 1.84 2.18 1.82 1.80 1.32 1.28 0.95 1.85 1.73 2.83 0.64
n- ( <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 1.4 <0.5 <0.5 <0.5 <0.5 1.4 <0.5
n- ( <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
<0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005/ <0.005/ <0.005/ <0.005| <0.005] <0.005| <0.005| <0.005
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
<0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
<0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
<0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005| <0.005/ <0.005/ <0.005/ <0.005| <0.005] <0.005| <0.005| <0.005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005( <0.0005| <0.0005| <0.0005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.001| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005f <0.0005| <0.0005| <0.0005
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002] <0.002] <0.002| <0.002] <0.002| <0.002| <0.002
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005f <0.0005| <0.0005| <0.0005
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002f <0.002| <0.002| <0.002] <0.002] <0.002| <0.002] <0.002| <0.002| <0.002
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
1,2- <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004| <0.0004
1,1- <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002] <0.002] <0.002| <0.002] <0.002| <0.002| <0.002
-1,2- <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004| <0.004] <0.004| <0.004| <0.004
1,1,1- <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 <0.0005| <0.0005| <0.0005
1,1,2- <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006f <0.0006| <0.0006| <0.0006
1,3- <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
<0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006| <0.0006f <0.0006| <0.0006| <0.0006
<0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002] <0.002] <0.002| <0.002] <0.002| <0.002| <0.002
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001] <0.001| <0.001| <0.001
<0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002| <0.002] <0.002] <0.002| <0.002] <0.002| <0.002| <0.002
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
7 7 7 5 6 6 6 7 7 7 7 6 7 7 5
1,4- <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05
<0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
<0.01 0.01 0.01 <0.01 0.01 0.01 0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.01 <0.01
0.03 0.03 0.03 0.03 0.04 0.03 0.04 0.03 0.03 0.03 0.03 0.03 0.03 0.04 0.03
0.04 0.06 0.05 0.02 0.05 0.04 0.04 0.04 0.04 0.06 0.04 0.03 0.04 0.06 0.02
0.02 0.02 0.02 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.03 0.02
<0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
—————————————————————————————— 0.0022| ----- ————= ————= ————= ————= 0.0022| ----- ————=
1 cn’® pg-TEQ/L L




